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= 440,040
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= 5,073,979
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= 250,040
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OHENLEH2d =ABAZ (421 =) 1,348,059
= 369,053
& 569,045
Al 409,961
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A nSHEL
33 sus2c
el HEusS AL (Cre|: ®M2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
—AUHA & EXod 2aEAM MY 22,000
—(IStHA 2EdN MF 12,000
307 @120l & 3,277,049 2,852,758 424,291
090 2FHHEXS 3,277,049 2,852,758 424,291
OAlUiHA 2eiE=aEas 2,996,049
OlStA 2dEAENZ 281,000
401 AIZHIZL SO 74,800 74,800
01 Al&H| 74,800 74,800
OltStA WSt ©@2)| £X 74,800
HIHA B 280,000 1,216,000 /936,000
= 140,000
S 40,000
Al 100,000
402 QI”F X201 & 280,000 1,216,000 A936,000
= 140,000
< 40,000
Al 100,000
02 QI TH2AILEE (01X THE) 280,000 560,000 280,000
O&IIHA RAEX 280,000
= 140,000
s 40,000
Al 100,000
NatgA Y2 xR 184,000 368,000 184,000
= 92,000
s 46,000
Al 46,000
402 2I2FXH=201H 184,000 368,000 184,000
= 92,000
= 46,000
Al 46,000
02 QI XHE AL E R (01X THE) 184,000 368,000 184,000
OM&HA g 22X 184,000
= 92,000
= 46,000
Al 46,000
Hsus A2l 287,788 88,636 199,152
101 e124d| 17,678 0 17,678
04 JIZtN2 2N S 2 17,678 0 17,678
O=tt HAEFE F4 & FA2d 17,678
—JlEs 78,8803 x1502 1 11,832
— 2| 3,000 =202 +8E*1d 480
-5+ 78,8802 x36=+18 2,840




A NSHAD
M HSus2el
o2l tsnsE MHlA (CHo M)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
— Xt 78,8303 <8 *1H 632
-5 118,320 1621 1,8%4
201 et | 42,960 58,636 A 15,676
01 At 2elt] 5,520 0 5,520
Oget=ZH| 5,520
—=4o HAERE A Y KA S2
350,000& 123 4,200
— 4 HARRE SOAHIAAY S
el 110,000& x 122 1,320
02 3244l 37,440 58,636 A21,196
O3=23 £ HMAl 31,440
—=M HAERE &IIRS
40,0003+ 12& 480
—=o HAZRE Aot R3
30,0002+ 12& 360
—HAZEOHND| S CIHY SHL=
40,0002 *63 L+ 122 30,240
—HAAXZEOHHAIAE ARS M3IR2
30,0002 x 128 360
OAIZEHIR I 6,000
—HAOHHE RXI2+ 6,000
401 Al&HIZ20HY| 227,150 30,000 197,150
01 AlEHI 227,150 30,000 197,150
OHAZEOHHD| WXl 227,150,000& 227,150
s X ¥ 72l 539,200 140,000 399,200
401 AIEHIZL 200 539,200 140,000 399,200
01 Al&HI 539,200 140,000 399,200
OSZE(HA, Al X
10,000,000 47K 2 40,000
OHASZE EHrE LED =% &X
2,300,000 *4JH 2 9,200
OSLE(HA Al RAE=
1,000,000 =404 2~ 40,000
OYAdA HA, SHAl HXU AIE e 450,000
nsatd Algdz2e] 3,016,640 3,387,027 A370,387
201 L2 | 473,940 425,331 48,609
01 Ar2eltl 11,440 4,300 7,140
Oo2d=g 11,440
—WSOHMTMAOIRIRZ & XSOt
TN EARg
100,000 * 14 23| 2,800
—LSHEEI} AoRRS| A (AIMAIAL)
=1 160,000& *9H +63| 8,640
02 B3=24H| 462,500 421,031 41,469
OZ322 & HA 202,500
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—MI| KA 2 DH
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~DEEXE HBA Sui
20, 000& *10E+3M A+ 128 7,200
—SYF=IE FHEA RAIH]
80,0002 x1603] 12,800
301 LEtEXZ 2,000 0 2,000
11 HAMAHIXI R 2 2,000 0 2,000
OQuSHeHHE)I K33 AHIXE 2,000
401 A& HILE0HY] 2,540,700 2,956,000 A415,300
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OMOIZ| 328 48X L B
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OQuEaztiet 84Xl & WAl
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ORI NESCEHFH| &X
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ogzsmx e A
2,500, 000& x40 2~ 100,000
OHiSts BsASS
15,000,000 = 161 A~ 240,000
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A nSHEL
33 sus2c
el HEusS AblA (CHo M)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M RIMEES 10,000,000 18,300,000 8,300,000
307 elztol & 10,000,000 18,300,000 8,300,000
09 2+ AELS 10,000,000 18,300,000 8,300,000
O & 2= RIItELS 10,000,000
CAENS2Y(S3EHA) At 440,000 400,000 40,000
[ 220,000
Al 220,000
307 @12t0| & 440,000 400,000 40,000
[ 220,000
Al 220,000
09 2 AHEXS 440,000 400,000 40,000
OootlgHA 2| K& 440,000
= 220,000
Al 220,000
SIEXEX SYXUDX LA (HEALY) 4,250,000 0 4,250,000
= 4,250,000
401 AlEHIZL SO 4,250,000 0 4,250,000
< 4,250,000
01 AlZ2H| 4,250,000 0 4,250,000
Ost= St SEALA 24 4,250,000
s 4,250,000
FEIEAN = 291,200 291,200 0
= 3,540
S 1,900
Al 285,760
S8 =dX N& 211,200 271,200 260,000
201 er23| 98,200 98,200 0
01 At2teltl 28,200 28,200 0
Odgt+==t| 17,400
—=X2E s 2elES 12,400
—0{20I22 7S 2l 2,400
—wSHE 23 el 2,600
O=gHl 3,000
—SEYFEA 5= 3,000
Oul=t| 1,000
—=IEAM2e 2HS 1,000
ogxt= 3,600
— SRR Aoz 60,0002 *60CH 3,600
Oo=g=¢g 1,200
—TEXRAL A=Y AR A HA
g 100,000 *3 1,200
OS] 2,000
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A nSHEL
B pEokiEe
Cel: NEsAN0IsE 2F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 190,000
307 gl2tol & 190,000 0 190,000
= 190,000
09 2s-AE2LS 190,000 0 190,000
OS8us=t 234l 190,000
= 190,000
BISHEAl &8 24 172,000 120,680 51,320
Il 40,000
Al 132,000
301 LEtE NS 172,000 0 172,000
Jl 40,000
Al 132,000
14 JIEt 2 a3 172,000 0 172,000
OHIRXMEAl 28 2= 132,000
OBIRXMEAl 2 2= 40,000
Il 40,000
NatgiA =29 42,000 42,000 0
S 12,600
Al 29,400
307 @I2t01 & 42,000 42,000 0
== 12,600
Al 29,400
09 2 AHEXS 42,000 42,000 0
OMAHA 2ozaa
7,000,000 ~6CH 42,000
= 12,600
Al 29,400
S A 2 946,966 820,548 126,418
[ 200,000
= 142,634
Al 604,332
SAE AEFsd 946,966 820,548 126,418
[ 200,000
= 142,634
Al 604,332
BA2S AR 946,966 820,548 126,418
= 200,000
& 142,634
Al 604,332
201 er23 | 78,644 84,548 25,904
01 At2teltl 78,644 84,548 25,904
Odgt+=ZH| 6,000
—+RSHEUSHIA 24 6,000




A NSHAD
M 2z
&Pl SSAY Ad=d EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OzelE9d| 72,644
—EAI2YE S ACIAAE 2T 4,264
—EAIDIEZ NI | X2l 14,780
—OI2ISHEAl 2EAIAE S22l 3,600
—Ccl|Z2&8Al SXl2teld] 50,000
207 A IHH| 22,000 22,000
01 ¢ EAH| 22,000 22,000
OHA S MEHEZAL S 22,000
307 gI2Hol M 846,322 736,000 110,322
s 200,000
& 142,634
Al 503,688
09 2AHEXS 846,322 736,000 110,322
OEANRZ HtEZH =2 97,122
& 32,374
Al 64,748
Ox=LSHaUSHAH(OIIHEA)2S 460,000
s 200,000
& 100,000
Al 160,000
OS8Al S4dl XI& 15,000
OsSE24H 298 N& 240,000
OHYQIEAI2=S AR MIH&H] X 34,200
& 10,260
Al 23,940
HY2AZH(LSSHH ) 90,714 ®,214 21,500
JlZ2&H| 90,714 9,214 21,500
JlE2Zl 90,714 92,214 21,500
201 Let2| 27,240 27,240 0
01 ArR222lt| 27,240 27,240 0
FAN2E J=3H| 27,240
202 o4t 59,274 59,274
01 =34 59,274 59,274
O=LH04HI 59,274
203 PR =&H| 4,200 4,200 0
M FA2LHRFAHI 4,200 4,200 0
ORNE2E HFFAH| 4,200
HRes(nsSHF) 1,500 1,500 0
ISFSNES 1,500 1,500 0
SEXE 1,500 1,500 0
802 gtet=J|E 1,500 1,500 0
01 SFNEXFEEZ 1,000 1,000 0
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Sl 2ENS
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SA - B S9(SH) - NIRAY - BES 0l &t e
OORRIZEAI - HA S 2IXES 0% 1,000

02 Al - EHIEX=ZEte 500

OOt EAl - HA & 2EXES OIK 500

it




